BbIXOAHOM CHrHaN

60.0 - nporokon CAN

Knacc ToyHoCTH
10:1.0%

05: 0,5%
025: 0.25%

Mpucoepntexue
K npoueccy

M20: M20x1.5

M12C: M12x1 L=24
M12E: M12x1 popma E
M12S: M12x1,5

M14A: M14x1.5 popma A
M14E: M14x1,5 ®opma E
M16F: M16x1,5 sHyTp.
M18: M18x1.5

M18F: M18x1,5 sHyTp.
M18C: M18x1,5 koHyc
M16A: M16x1.5 ©opma A

AunanasoH u3MepeHus
-1/0 0/16
-1 0/20
-1/5 0/40
01 0/60
01,6 0/100
02 0/160
02,5 0/200
0/4 0/250
0/6 0/400
0/10 0/600

0/1000
0/2000
apyrue

G18A: G 1/8 A

G14A: G 1/4 A

G14B: G1/4 B

G12B: G12B

G12E:G12E

18NP: 1/8 NPT
14NP: 1/4 NPT

U98M: 9/16-18 UNF 2A

MBA: M8x1

M12: M12x1.25

apyrue

MNpumep kopa ana 3akasa: ADZ-SMC-60.0 0/10 BAR G 05 G14A M12

EauHMLbI
H3MepeHua

BAR: 6ap
MPA: MMNa
KPA: klMa
KGC: kriem2
PSI: psi

MWS: M BA. CT.
apyrue

Pa3sbém

MVC: MVS/C
MVA: MVS/A
M12: S763 M12
M16: S723 M16
MIL: MIL C26482
KP1:kabens 1 m
2RMD:2 PMO
2RMT: 2 PMT
apyrue

Tun paBnexns

g - U3bbITOuHOE
a - abcontotHoe
SI - repMeTUuHoe
UcnonHexHue

Onuum

RO6 - apoccens 0.6 mm

02C - ouncTKa ANA NPUMEHEHUA

C KUCNOPOAOM

C4 - 3aB0ACKON CEPTUDUKAT KANUOPOBKM
M - ormeTKa 0 NepBUYHON NOBEPKE B
nacnopre

apyrue



